Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER-II EXAMINATION —Summer- 2019

Subject Code:3320201 Date: 01-06-2019
Subject Name: Thermodynamics & Hydraulics
Time:10:30 AM to 01:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.

Q.1 Choose Correct answer. (Any Seven out of ten).

AR syl Y 52, (2uMid] siSuRL uld).
1.  What do you mean by thermodynamics?

A. The branch of science that B. The branch of science that
deals with temperature and deals with work and energy.
work.

C. The branch of science that D. None of these.

deals with heat and energy.
1o AHLAMSY (AN dH 9 uHorL 912

A. (At 2id] auv s sy B. [Asildl widl v s sy 514
ALUHLA Bi 51 118 50144 wied Glon A1 dsnid €.
£,
C. [Asue«il 2dl vt s sy Gyl D. suuigl sidum <l
wie Glon 219, dsnAd €9,
2. The absolute zero temperature is taken as.
A. -237°K B. 237°K
C. -273°C D. 273°C
2. (4208 9t dluMLAA 528 QM 21 9.
A-239°K B. 239°K
C. -293°C D. 293°C
3. The gas constant (R) is equal to the of two specific heats.
A. Product B. Ratio
C. Difference D. Sum
3. AU BANs (R)2L ol Alssy G-l AR101Z 59,
A. OISR B. 9@lidz
C. dslad D. uzal0
4. Which of the following is NOT a type of positive displacement pumps.
A. Reciprocating pump B. Rotary displacement pump
C. Centrifugal pump D. All of these
¥, <dlRdmidl s il Reiaziez dudl usiz 44l
A, aluisglon vy B. =zi2¢l zuduH-zu
C. d<zlapaiy D.  Guisd o8l oy
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The efficiency of Diesel cycle depend upon .
A. compression ratio B. pressure ratio
C. cut-off ratio and D. temperature limit
compression ratio

Slotd UASAAL SIA2BAL U BUHIR AV 99,

A. £l OLElAR B. 26418l 9LRlAR
B. 52 2ilg (20 24 210t 9LRlLAR C. dluuld HAlEl

Otto cycle is also known as .

A. constant temperature cycle B. constant pressure cycle

C. constant temperature and D. constant volume cycle

pressure cycle

{221 A5 =[5 wRL 2UAAAHL 219 99,

A. YL dALUHLA AASE, B. w40 2610 A454

C. 2440 ALUHLA 2l 2610 AA5E D. 21201 52 U454,
Continuity Equation is .

A. Q=A+V B. Q=A-V

C. Q=ANV D. Q=AV

2, Alded w5206,

A. Q=A+V B. Q=A-V

C. Q=AV D. Q=AV
The centrifugal pump has a flow.

A. Variable B. Uniform

C. Continuous D. Constant
Ae2lzo1e iy Hi UALS 69,

A dRiod B. afds

C. sdleymy D. sle2e2
Reynolds number is the ratio of inertia force and .

A. Inertia force B. elastic Force

C. Gravitational force D. Viscous force
AL, <012 618l 610] Vi<l LR €9,

A. 643l 6401 B. HalzZls ol

C. 3edlsUBL 6l D. [Az514 st

When a gas is heated, change takes place in .
A. Volume B. Pressure

C. Temperature D. All of these
AR Al M 52|, AR 52512411 99,

A st B. eol0l

C. dluHld D. GURisd 4L 6%

Give Difference between Centrifugal pump and Reciprocating pump.
A5lad 2L - A<2le401e Uy 2 =452l vy
OR

Write a Short note on — “Performance of pump”.

Z5elld QUi - MU UsIHA,
Prove PV=mRT
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A1 520 PV=mRT

OR
State limitations of First Law of Thermodynamics.

AHL LS [Hst el UAH [AaHAl HAle12l quil,
Explain Otto cycle with neat sketch.
204249 2A15(A U2 B2 A5 UHMA,

OR
Explain Diesel cycle with neat sketch.

29259 2150d 12 (2@ AAsd YHMAl

Explain Pascal’s law with neat sketch.

YIz5eeAl [AH 29269 2A15(d U1 YHMAL
OR

Explain Reynolds’s experiment with neat sketch.

2Ll WAL BAL5[A A1 A1,

Write short note on — “Impeller”.
25ells AUl - NORUERN,

OR
Define — 1. Entropy 2.Enthalphy 3.Flow work
AL UL - 4. De2ldl 2. vieied] 3. 54l 5,
Prove - Cp-Cv=R
Allod 521 - Cp-Cy =R

OR

Draw following process on P-V and T-S diagram.
(1) Constant Pressure (2) Constant VVolume

Al2ddl ulsa1d P-V 21 T-S $14121H U 214l
4. AL EOURL 2, AL 52
Give classification of Thermodynamic cycles.
AL A M5 A5 o Aoilszel 52l

OR

Prove - “The heat efficiency of a Carnot engine working on same
temperature is higher compared to others engine.”

ALG1A 520 — “Vis 6f UL AIUHLA UR 51H 52l 51412 Dl dl Gra{lazaidl w1
Ve, 521 Y, $1A 69,
State and explain Clausius’s statement of second law of thermodynamics with
neat sketch.
AR LA M5 AL oflon [Aan HI2 sAlRir (A8 avil 244 5A 112 AHmAl
OR
With the help of Joule’s experiment explain first law of thermodynamics.
sy cell WALl Heesdl AnisA[MsUAl UAH [QH AHMAl,

Give classification of fluids.
545 <i qoils2 53,
OR
Write down Limitations & Applications of Bernoulli’s Equation.
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ol Als0 | WAle1U 21 GuAildL qul.

Differentiate Path and Point function.
Y12 2 YLz 558l Ul dslad QUi

OR
Explain Reciprocating pump with neat sketch.
2=dluis2lon vy vligla wE uumdl.

Explain Different types of Thermodynamics System.
6yel 6yel UsIRel AR5 naEloll aHmAl.

Write down Applications of Thermodynamics & Hydraulics in Engineering.
Oyl Hi gHLAAMSY i Il 5L GUAILL QUi

Explain Laminar, Transition & Turbulent flow.
AHANAL - AR, UsHEL 21 (g8 nals
Write down Applications of Pascal law in Automobile Engineering.

YIz5AeAl (AL UZIHIALDE, SorZlHi GUALOL dwl,

Calculate theoretical flow rate of a single acting Reciprocating Pump for
following data .Bore diameter is 120, mm, stroke length is 250 mm and crank
speed is 40 RPM.

wloie 2is2lo zdliisZlol dudl oliz 12 0 HLHL221s 2u0 HlHlotd 55 9ld wo
IR ULBIH 1A UL AdL A4LAs nals 22+ aLR1dEl 521,
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